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- Instructions :

(i)  First 15 minutes are allotted for the candidates to read the question paper.
(ii)  All questions are compulsory. Marks allotted to each question are given against it.

(iii) Question Nos. 1 to 10 are Multiple Choice Type. Question Nos. 11 to 20 are Very
Short-Answer Type, to be answered in about 25 words each. Question Nos. 21 to 26 are
Short-Answer Type, to be answered in about 50 words each. Question Nos. 27 to 29 are

Long-Answer Type, to be answered in about 150 words each.
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(Multiple Cholce Type Questions)

Note : Four options are given for each of the following questions, out of which only ¢

answer is correct. Choose the correct answer and write it in your answer-book.
~J

2 .
{.  Who among the following is not a sesiologist 7

o

=

(A) Auguste Comte %
(B) Maclver

(C) G.S. Ghurye -

L

(D) Darwin %‘l

B

an

s

The main basis for separating rural and urban communities 1s

13

(A) Nature of Business

-..4

. (%)

(B) Populaton size g
' 1al re

(C) Nanure of soci P 3

(D) All of the above

3. *Chipko Movement’ is related to -

N

: )

(A) For protecung trees C;-_D.

o))

Je,

(B) For protecting water
«Cy For protecung mnerals
(D) For protecting animals
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Which of the following is called the fourth pillar of democracy ?

(A) Executive

(B) Legislative

(C)  Judiciary f.;;
(D) P 3
ress
I
o)
o
3. Who is the founder of Arya Samaj ?
(A) Raja Rammohan Roy
(B) Swami Dayanand Saraswati E:
N
(C) Vivekanand o
&
(D) Mahatma Gandhj w
6. Which of the following is not the characteristic of culture ?
(A) Adaptability PRy
n
(B) Super Individual E
N
(C) Social Quality w
(D) Biological Inheritance
7. Liberalization is related with ~
™
(A) Social policy g
P
(B) Colonial policy %
(C) Education policy
(D) Economic policy
340(JN)
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Who was the originator of the ‘Cyclical Theory® ?

(A) Oswald Spengler and Amold J.
(B) Maclver and Page

(C) Durkheim and Sorokin

(D) Comte and Weber

9. Which of the following is a stage of project work ?
(A) Selection of study subject
(B) Selection of study techniques
(C) Compilation of facts
(D) All of the above
10.  Who have classified culture into material and non-material cultures ?
(A) Morgan
(B) Weber
(C) Sorokin
(D) Ogburmn
340(JN) [7of12]
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(Very Short-Answer Type Questions)

11, amfo gors & R fasmarst w1 3o fa
11. " Mention the three characteristics of the Rural Suciety.
po
12, ‘Fragrd =) afonfam Sfw |
12. Define ‘Kinship’.
S
13, ‘"mifae et s 7 T
13. What is ‘Social Stratification® ?
14, ‘g\ryerfaFar =g ? '
-
14.  What is ‘Communalism’ ? i‘
15. ‘sl aIamFmanea ¥ 7
15. What do you understand by ‘Class’ ?
O
16. ‘wfAwFfa’ & feradf 47 ugm wvrat #1 avis Fifde |
16. Describe any three major effects of *Green Revolution’.
340(JN) [Bof12]
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1 Whart 30 you mean by Indusmalizanon ?

13. ¥ ias e= Tk 7 &
18, What s Social Movement ? t;

19 R e S i

19. What is the role of *Law’ in sociery

LQRENRC ]

=}

20. TS WA | FT = E=F0 &

20. What do you understand by ‘Weekly Market™ 7

LA e
’,}%
)

£+
[Short-.—\ip;n er Type Questions)
21, Ngis IFETE AT & AN-TiE WE ST |

21 Explain the advantage and disadvantage of Modem Mass Media

22.  .What are the major problems of “National Integration” 1n India

53 TofaETETE @1 EYUWON FT U HIfAd |
23 Elaborate the concept of Colomalism.
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24. Describe the role of Gram Panchayats in India.

"

25w § Fafauar 3 wewar ) TEURIMET R ?

25.  What is the concept of ‘Unity in Diversity’ in India ?

26. WA | A m%mﬁ%ﬂﬁﬁu |

26. Discuss the effects of gender inequality in India.
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(Long-Anéﬁ'er Type Questions)

27. WA H FHE G geged & Iarl St i faaean Hifvn

N

[
HYdqr Cry

o

e

m{?ﬁamﬁmgﬁﬁwﬁ{fﬁ%ﬁﬁéwﬁﬁml

27. Discuss the factors responsible for the Birth rate and Death rate in India.
OR

Discuss the role of Modemization in Indian society.

M{i} [100f12] (Y_a}



28.

28.

29.

29.
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Explain the characteristics of the Caste System.

69v0

OR

Clarify ‘tribal conflict’ and explain its main causes. 24
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R

on
Discuss the changes brought about by Globaliza(ﬁn.

N
OR w0

Define Democracy. Describe the role of pressure groups in Democracy 2

69v0SEL
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